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Data analys1s 

Aup.;w>t. 10, 2012 

Question 1 

• Pontuation 

: 1.5 (0.5 each plot) 

2 : 3.0 (1 each eodfidenl) 

3 : 0.5 

·4 : 3.0 (1 each plot.) 

0 : 1.5 (0.5 <:'Ht'h) 

6 : 1.5 (0.5 ~~a.ch) 

7 : l.Ci 

0 : 0.5 

g : o .. o, 

• Answers: 

lt.('Ht> 1,2 See Fig. 1-::>. 

Hem :J: Night. B 

·· It.cns '1,~·,6 See Flg. 4-{\. 

-- Item: 7,8 Sm· Fig. '7. 
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Question 2 

.. Pontuat.ion 

J : 1.0 

2 : 1.0 

Data analysis 

August, 10, 201.2 

3 : 3.0 (1.5 each scar) 

4 : 0.5 

e Answers: 

-- Itens 1 ,2 : Figure 1 

- 3: 

Starl : 1n = 25.35, P = 4.Sdays, M = --fi.Ofi ± o.or •. r1 = 19.1 ± 
0.4Mpc 

Star2 : m -= 2fi.25, P = 22day::, M = -- 5.08 :± (1.05, d = 18.4 ± 
0.4Mp(' 

- 4: l:::..rl = 0.67 Mpr:. If one consider:-; Ul<tt a. typical galaxy has 
a JOOKr>c radius, !.hen it i}; possible tlJ<JI. they are in t;he same 
galaxy, cousidcring the OA M1>c uncert.<<.illty nf cr .. ch distance. 

--l~=-1.20528530538 B=-2.88489462276 std=0.05004533069_85 

· ·2. ~ 

""" 
I ""---......... 

-& -3 . - ---... 
:J ......... 

F. ~--g' ...... 
:E-·4 ~ 
~ '-...,, 

~ '"-...... 
Q ' c~ ~ ...... 

......... , , 
---....... ·-6 

_J -~--~-~-· --'----~--1 
0.2 o.4 o.6 o.e 1..0 1.2 1.4 1.6 l.ll 

loolO(Period In day~) 

Fig;ure J : 

2 


